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MCQS 40 each 1 mark

Short 4 each 2 marks
Short 4 each 3 marks
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MTH601 Operations Research BCOB0D40074
Question Ne : 1 of 52 Iarks: 1 (Budgeted Time 1 Min)

The cost matro: m assignment problem 15 always diagonal matris

WWW.VirtualAcademylLive.com

Answer | Please select your carrect option |

SEJUAre matrix
c correct
wdentity matr
e
zero mabris
r L ]
YNade by: YWaqgar Siddhe
MTH601 Operations Research BCOBO40074
Question No : 2 of 52 Iarks: 1 (Budgeted Time 1 Min)

Whach of the followang bmary eperabon in assgament problem among all the elements m the gwven profit matnxe from the kaghest element m the matr:
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Answer | Please select your carrect option )

Subtraction

correct

Dinsion

Mulbplication

_ [ Addion (que bs: quar \Sid‘"’ll




MTH601 Operations Research BCOB040074
Question No : 3 of 52 Marks: 1 (Budgeted Time 1 Min)

During a replacement if the value of money decreases at the rate of 3% then the present worth factor of urat amount to be spent after one vear 1z given by
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Answer | Please select your commect aption )

025
i
0333
rC
09708
c correct
4 e
c YNade by: Yy aqar Siddhe
MTH601 Operations Research BCOB040074
Question No : 4 of 52 Marks: 1 (Budgeted Time 1 Min)

In sequencing problems, the Johnson's algorithm in finding the optinal ordering of A jobs through 3 machines can be applied, i the problem is converted nto followmg mamber of machines problems
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Answer | Please select your cormrect aption |}

3
7, correct
3x|
[
2x3=§
P
2 .
c YNade by: YYaqar Siddhe
MTHG01 Operations Research BCOB040074
Question No : 5 of 52 Marks: 1 (Budgeted Time 1 Min)

If the money carmes a rate of ingerest of 12% per year, the present worth factor  of one rupee due m one year s
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Answer | Please select your cormmect option }

008333

088285

00763

e|” YNade by: YWaqar Siddhe




MTH601 Operations Research BCOB040074
Question No : 6 of 52 Iarks: 1 (Budgeted Time 1 Min)

Degeneracy ma 3% 0 transportation problem sccurs when the number of cccupied cell is less than
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Answer | Please select your correct option )

20 but greater than 10
o
10
C cormect
Zero
=
Infinaty -
c YNade by: Yy aqar Siddhe
MTH601 Operations Research BCOB040074
Question No : 7 of 52 Iarks: 1 (Budgeted Time 1 Min)

We go m probabibste replacement model when peniod between mstallabon and Ealure 15
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Answer | Please select your correct option )

varying exponentially
o
varying linearly
r correct
Constant
s
15 not constant (varying arbitrarily) d b > - d d
c YNade by: YWaqar Siddhe
MTH601 Operations Research BCOB040074
Question No : 8 of 52 Iarks: 1 (Budgeted Time 1 Min)
Any zet of non negative allocations (X = 0) which sahisfies the row and column sum 15 called a solaton
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Answer | Please select your correct option )

feasihle

non basic feasible

basic infeanble

- corect YNade by: YWaqar Siddhe




MTH601 Operations Research BCOB040074

Question No : 9 of 52 Marks: 1 (Budgeted Time 1 Min)

If a basic feasible soluhon contams less than “m +n— 1" (Here m s the number of rows, n1s the number of columns m transportaton problem) non negative allocaton, then s sad to be
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Answer | Please select your correct option )

Degenerate
= correct
Multiple Solubons
.
Mon degenerate
=
Alternative Ophtima b -t
c YNade by: Yy aqar Siddhe
MTH601 Operations Research BCOB040074
Question No : 10 of 52 Iarks: 1 (Budgeted Time 1 Min)

Consider the followang cost tabde:

Destinations
D1 D2 D3 Supply
Source 51 5 1 2 25
52 1 2 4 = -
WWW.VirtualAcademyLive.com
Answer | Please select your correct option )

10
~

15
~

25
e

s L]

c o YNade by: YYaqar Siddhe
MTH601 Operations Research BCOBO40074
Question No : 10 of 52 Iarks: 1 (Budgeted Time 1 Min)

Source 51 5 1 2 25
52 7 2 4 10
53 3 3 =] 15

Demand 10 20 20
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Answer | Please select your correct option )

10

25

el sorect YNade by: YWaqar Siddhe




MTH601 Operations Research

BCOB040074

CQuestion No : 11 of 52

Marks: 1 (Budgeted Time 1 Min)

Desmmations
D1 DX D3 Supply
Source s51 5 1 2 25
52 T 2 . =
WWW.VirtualAcademyLive.com
Answer | Please select your correct option )
I Dand T

pa

A I only

- II crly

= T onky

L]
»

[Ty et YNade by: Yy/aqar Siddhe
MTH601 Operations Research BCOB040074
Question No : 11 of 52 Iarks: 1 (Budgeted Time 1 Min)

53 3 3 ] 15
10
Diemand 10 0 0

Taing Vegel's Appromimation Methed
These below are the three cells which can be next cell
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Answer | Please select your cormrect option |}

L Tand I
-

I only

I crly

T omnky

~ |Land ILonly
MTH601 Operations Research

YNade by: YWaqar Siddhe

BCOB0D40074

Question No : 11 of 52

Iarks: 1 (Budgeted Time 1 Min)

L S3-D2
L $2=»D2
It 51-D3

Which one 15 the correct option?
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Answer | Please select your cormrect option |}

L Tand I
-

I only

I crly

T omnky

~ |Land ILonly

YNade by: YWaqar Siddhe




MTH601 Operations Research BCOB040074
Question No : 12 of 52 Iarks: 1 (Budgeted Time 1 Min)

We go m probabibste replacement model when penod between mstallabon and falure 15

WWW.VirtualAcademylLive.com

Answer | Please select your correct option )

varying exponentially
-~
varying kinearly
~
correct
Constant
-
15 not constant (varying arbatrarily) b -t
c YNade by: Yy aqar Siddhe
MTH601 Operations Research BCOB040074
Question No : 13 of 52 Iarks: 1 (Budgeted Time 1 Min)

If the mean arrwal and mean sermce rates are 4 and 7 respectively & queue then expected wating time m the systern s
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Answer | Please select your correct option )

1
|3
correct
3
e
28
s
T L ]
o2 YNade by: YYaqar Siddhe
MTH601 Operations Research BCOB040074
Question No : 14 of 52 Iarks: 1 (Budgeted Time 1 Min)

In a bank, every 15 mimtes one customer amves for cashing the chegue. The staff'm the payment counter takes only 10 mmutes for sermng a customer on an average, then the sepnce rate ™ 47 =
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Answer | Please select your correct option )

6 per hour

c cormect

4 per hour

10 per hour

[ YNade by: YWaqar Siddhe




MTHG601 Operations Research BCOB040074
Question No : 15 of 52 Marks: 1 (Budgeted Time 1 Min)

A duphcating machme mamtamed for office use 15 used and operated by people m the office who need to make copies. Smce the work to be copted vanes i length (number of pages of the ongmal) and
copies required, the sermice rate is randomly distnbuted, the arrival rate 1s 5 per hour and the sernce rate i3 10 per hour then the equipment utllization ” 27 15 equal to
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Answer | Please select your commect aption )

0.50
r correct
020
i
5
s
2 .
c YNade by: Yy aqar Siddhe
MTHG601 Operations Research BCOBO400T4
CQuestion No : 16 of 52 Marks: 1 (Budgeted Time 1 Min)

A repatrmnan sermces three machines. For each mackne the time between servce requrements 15 8 hours following exponential distnbution: The tme of reparr also has the same distribubon with a mean
of 2 hours. Then the average rate ™ 3" is
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Answer | Please select your cormmect option }

1B =0125
v
correct
8
C
4
s
Ye=1025 ]
c YNade by: YYaqar Siddhe
MTHG601 Operations Research BCOBO400T4
Question No : 17 of 52 Marks: 1 (Budgeted Time 1 Min)

A repatrmnan sermces three machines. For each mackne the time between service requrements 15 8 hours following exponential distrbution: The tme of repair also has the same distribubon with a mean
of 2 hours. Then the mean service tme ™ i 18
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Answer | Please select your cormrect aption }

~ ¥=05 ot
e|’ YNade by: YWaqar Siddhe




MTH601 Operations Research BCOB040074
Question No : 18 of 52 Marks: 1 (Budgeted Time 1 Min)

IE“Ni" be the Mumber of replacement made at the end of the ™ week and “B;" be the probability of failure durmng the @ weel, then My = cccccamaaaaaaaans .
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Answer | Please select your commect aption )

HaPs
v
correct
N,
C
HaPo
e
P -
c YNade by: Yy aqar Siddhe
MTHG601 Operations Research BCOBO400T4
Question No : 19 of 52 Marks: 1 (Budgeted Time 1 Min)

The present worth of a rupee to be spent after a year 15 denoted by v and gwen by

WWW.VirtualAcademylLive.com

Answer | Please select your cormrect aption |}

v=11{1+r)
& correct
v=[1+r)
C
v=(1+#/10
e
v=(11r) -
c YNade by: YYaqar Siddhe
MTHG601 Operations Research BCOBO400T4
Question No : 20 of 52 Marks: 1 (Budgeted Time 1 Min)

Fortrmila for a geometne senes "x +vx +viz + o +v®lx" s
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Answer | Please select your cormrect aption |}

=¥
1=v correct

| Pim=z

1
e | Poo=
1

c P(”?':“l-—:

p—— YNade by: Yyaqar Siddhe




MTHG601 Operations Research

BCDB040074

Question No : 21 of 52

Marks: 1 (Budgeted Time 1 Kin)

Product of "tem cost” and °ordered tem” 15

Answer | Please select your commect aption )
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Crash cost
v
Cost penod
C
correct
Set up cost
e
Shortage cost -
c YNade by: Yy aqar Siddhe
MTHG601 Operations Research BCOBO400T4

Cuestion No : 22 of 52

Marks: 1 (Budgeted Time 1 Min)

Standard Dewaten (5.D.) = KAD

Answer | Please select your cormrect aption |}
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MTHG01 Operations Research

YNade by: Yyaqar Siddhe

BCOBO40074

CQuestion No : 23 of 52

Marks: 1 (Budgeted Time 1 Min)

MAD = e 5.0
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Answer | Please select your cormrect aption |}

JZ
C (N

correct

raf o

ﬁ
-c"—.___n
w| gl

_,

YNade by: Yyaqar Siddhe




MTHG601 Operations Research

BCDB040074

Question No : 24 of 52

Marks: 1 (Budgeted Time 1 Kin)

The fellowmg network 15 an example of

Answer | Please select your commect aption )
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Eedundancy

Dangling

Cyclng

Drurmmy
&

MTHG01 Operations Research

YNade by: YYaqar Siddhe

BCOBO40074

CQuestion No : 25 of 52

Marks: 1 (Budgeted Time 1 Min)

For any actraty backward pass computations prowide s

Answer | Please select your cormrect aption }
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Earliest srart times

Latest start tmes

Moderate start tanes

Completion bme
C

MTHG01 Operations Research

YNade by: Yyaqar Siddhe

BCOBO40074

CQuestion No : 26 of 52

Marks: 1 (Budgeted Time 1 Min)

Answer | Please select your cormmect option }

Best possible e estmate that a grven actinty would takee under normal conditons wihach often emst, 8 called

WWW.VirtualAcademylLive.com

Most Likely tune estirmate

Pessnmistic tme estimate

Smallest time eshmate

Achwity tune eshmate

YNade by: Yyaqar Siddhe




MTH601 Operations Research BCOB040074
Question No : 27 of 52 Marks: 1 (Budgeted Time 1 Min)

In PERT, actwity e estimates are distnbuted according to
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Answer | Please select your commect aption )

Beta Dismbuticn
v
correct
Mormal Distnbution
C
FPoisson distribution
e
Bmnormal Distnbuton &
c YNade by: Yy aqar Siddhe
MTHG601 Operations Research BCOBO400T4
CQuestion No : 28 of 52 Marks: 1 (Budgeted Time 1 Min)

Solobion region for the constramt 3 £ 0 15 the
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Answer | Please select your cormmect option }

Half plane below y-zons
o
Half plane below the lne; y=0
C
Set of all those pomnts where ordmates are non-postive
~
Al are equmalent d b .ddh
c correct tmﬂ e by: aqgar 1 L
MTHG601 Operations Research BCOBO400T4
Question No : 29 of 52 Marks: 1 (Budgeted Time 1 Min)

In a linear Programereng Problem (LPF), which of the following must be hold?
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Answer | Please select your cormmect option }

Cinly ebjective finction is near

Both objectree fimction and constraints are near

Cinly constrants needs to be near

At least one of ohjectve funchon or constramt should be hnear - h
c YNade by: YYaqar Siddhe




MTH601 Operations Research BCOB040074
Question No : 30 of 52 Marks: 1 (Budgeted Time 1 Min)

If 4 company manufacture "% wats of product "A” and 'y unts of "B’ with assomated profits of Bs.5 and Bs 3 then whuch of the followng 15 the objective finchion to mamrmze 15 the profi?
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Answer | Please select your commect aption )

z= 15wy
=
p=5n-3y
C
z=3x—-3y
P
e=5x+3y d b -t d dh
c correct tmﬂ e by: aqgar 1 U
MTH601 Operations Research BCOBO400T4
CQuestion No : 31 of 52 Marks: 1 (Budgeted Time 1 Min)
The vartable 18 chosen by exarimng the cost coefBoents m the objectve Rinction.
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Answer | Please select your cormrect aption |}

ETItETIE
c correct

leaving

positve clack

r negative slack tmﬂde b,: Wﬂqa' ‘Siddh”

MTHG601 Operations Research BCORD400T4
CQuestion No : 32 of 52 Marks: 1 (Budgeted Time 1 Min)

While sohnng a bnear programemmg problem by big M — Method, tradibonally the vanables are chesen o the mohal basic feasthle solubon

WWW.VirtualAcademylLive.com

Answer | Please select your comrect aption |}

rieagtrre slacl

posiive slack

eftering

o™ commsct YNade by: YWaqar Siddhe




MTHG601 Operations Research

BCDB040074

Question No : 33 of 52

Marks: 1 (Budgeted Time 1 Kin)

In the big-M methed, if the mtroduced

vanables do not leave the basis in the final geraton, then this mdicates that the gve Inear programming problem cant be ophimzed

WWW.VirtualAcademylLive.com

Answer | Please select your commect aption )

EntEring

positive slack

negative slack

artficial
[

MTHG01 Operations Research

comest YNade by: YYaqar Siddhe

BCOBO40074

Question No : 34 of 52

Marks: 1 (Budgeted Time 1 Min)

Zero valued artificial vanables may appear as

variables in the final selution, when one or more of the onginal constramts equations ts redundant.
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Answer | Please select your commect aption }

nen basgic
c

banc

slacks

surplaz

- arificial
MTHG01 Operations Research

YNade by: Yyaqar Siddh

BCOBO40074

Question No : 35 of 52

Marks: 1 (Budgeted Time 1 Min)

Ew uzsing Twe phase method to solve a bnear prograrenmg probles, m phase [, a new objective function is formed by assigmng on left hand side, zero te every ongmal vanable (including slack and
surplus varnables) and -------- to each of the artificial variables

Answer | Please select your cormrect aption }
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M

+1

YNade by: Yyaqar Siddhe




MTH601 Operations Research BCOB040074
Question No : 36 of 52 Marks: 1 (Budgeted Time 1 Min)

For the Imear programmng problem;
ManZ = 2x + 3y
Subject to

x22 r-g+A=2
¥L3 Fy=y+gy =3
AT P, TN

WWW.VirtualAcademylLive.com

Answer | Please select your corract option )

MaZ = 2x + I +4

Mg =2x+ 3 +4

MazZf=A4

Mmnd = A -
c YNade by: Yy aqar Siddhe
MTHG601 Operations Research BCOBO400T4
CQuestion No : 36 of 52 Marks: 1 (Budgeted Time 1 Min)

For the Inear programming problem;
MaxZ =2x+ 3y
Subject to

]

x 2

¥ &

we el

x-g+Ad=2
J:*Tffi;; ] WWW.VirtualAcademyLive.com

Answer | Please select your cormrect aption }

Wawd = 2% + 3p +4
-
Mg =2v + 3 +4
C
MaxZ=A
e
Mind =A ®
c - YNade by: YYaqar Siddhe
MTHG601 Operations Research BCORD400T4
Question No : 36 of 52 Marks: 1 (Budgeted Time 1 Min)

y20 xy.sl.52.420
Which of the following is assonated objectve function of the 17 phase?

¥43 Y=o y+g =3 j

WWW.VirtualAcademylLive.com

Answer | Please select your cormmect option }

MaxZ = 2x + 3p +4

Mg =2v + 3 +4

MaxZ=A4

o[ correet YNade by: YWaqar Siddhe




MTHG601 Operations Research BCOB040074
Question No : 37 of 52 Marks: 1 (Budgeted Time 1 Min)

The inecualty 2x +3y 218 is equivalent to

WWW.VirtualAcademylLive.com

Answer | Please select your commect aption )

2z +3p£-13
v
-2x-3y 218
C
—dx—=3vz =18
e
-2x=3p5~18 -
o| = comect YNade by: Yy/aqar Siddh
MTHG601 Operations Research BCOBO400T4
CQuestion No : 38 of 52 Marks: 1 (Budgeted Time 1 Min)

In whach of the followang models, Simplex algonthm is not preferred to use due to labenous computations?
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Answer | Please select your cormmect option }

Transportations modele

Diegenerate Linear models

Mon-degenerate Lmear models

_ [t o bounded near models [mnde b,: thqnt ‘Sid‘")ll

MTHG601 Operations Research BCORD400T4
Question No : 39 of 52 Marks: 1 (Budgeted Time 1 Min)

Transportations models conssst of ------- like the production centers and --------- which may be the sales centers.
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Answer | Please select your cormrect aption |}

(sinks, sources)

{sources, smks)

(origms, sources)

[t s YN ade by: Waqar Siddhe
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Question No : 40 of 52 Marks: 1 (Budgeted Time 1 Min)

| To conwvert the transportation problem mto a mammiration medel we have to-----cceaaee
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Answer | Please select your commect aption )

wiite the inverse of the coefficient matroz

&
midbiply the feasiblity condition by =1
mltiply the coefficient matres by -1

We can't convert the transportahon problem mto a masrmization problem, as it 15 basically a mimmization prob d b P .ddh
c : Nade by: YWaqar Siddh




